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A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar
It = (u' + 2u® + 40" 4+ 4u® — ut + 3u® — w4+ 2u — 1)

=™ — "4 2u+1)

* 2 irreducible components of dim¢ = 0, with total 59 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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L I = (u' 4 2u® + 4u” + 4u® — u? + 3u® —u? + 2u — 1)

(i) Arc colorings
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us—u +u — 2u® 4+ 2ut — 2u® 4+ u? —2u>

w —ul —ud -2t — w4 u

ud + 2u8 + 2ut + 202

u10+u Fud+2u" +ub+ 3w+ 20 — w4 u
w — % =208 — 20" — 208 — 3P —ut— 2w+ —u+1

u10+2u8+u + 3u8 + u® + 2ut + u? + u? —|—u)

—u® —ub —wu —1—1)

ayp = —u® - - -t -t —u+t1
wO+ 208 +u" + 3+ + 2wt + P+ +u
aio = —u® —u” —ub —ud -t~ —u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'® + 4u® + 4u® + 8u” + 12ub + 1615 + 8u* + 8u® + 4u® + 8u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,¢3,C ult 200 4+ 4u” +4u® —ut 4 30—+ 2u—1
C9
€2, €6, C8 w400 ooy —1
€10
C4,C11 utt +20° — 208 + 10u” + 120 — 3ut +5ud —u? -1
¢ ut — 7wt o 28u -8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C5 y11+4y10++2y_1
Cg
€2, Ce,C8 yll +8y10+-~-+22y—1
€10
C4,C11 y11+4y10+~~—2y71
7 y' — 3y 4+ + 48y — 64




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.111009 + 1.0308101

—5.93919 — 3.553671

—6.35449 + 4.867511

u = —0.111009 — 1.0308101

—5.93919 + 3.553671

—6.35449 — 4.867511

u = 0.594105 4 0.7236471

1.48764 4 1.967501

4.49213 — 3.239481

u = 0.594105 — 0.7236471

1.48764 — 1.967501

4.49213 + 3.239481

u = —0.817015 + 0.7076331

6.68078 4 3.131361

8.76083 — 0.566041

u = —0.817015 — 0.7076331

6.68078 — 3.131361

8.76083 + 0.566041

u = —0.617277 + 0.9665461

—0.07920 — 7.682221

0.97285 4 8.494431

u = —0.617277 — 0.9665461

—0.07920 + 7.682221

0.97285 — 8.494431

uw= 0.729012 4 1.0113507

4.8176 4 14.75551

5.24582 — 10.311601

uw= 0.729012 — 1.0113501

4.8176 — 14.75551

5.24582 + 10.311601

u= 0.444369

0.869046

11.7660




I I = (u*® —uf" + ... 4+2u+1
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(i) Arc colorings
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w6 8yt o 4yt 42
—uf — Tyt 4 — Ayt 1
a9 = u46—|—8u44+--~+4u4—|—u2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® + 28u*3 + 132u*! + 448430 + 1224437 + 2772u3° + 5348u?3 +
89161 4 12948u2® — 4u?® 4+ 1645617 — 2016 + 18292u2® — 68u* + 17704u?® — 164u?? +
14776u*' — 308u?° + 10428u!? — 468u'® + 6020u'” — 576u'® + 2644u'® — 580u'? +

72003 — 468u'? — 288u'0 — 88y — 124u® — 447 — 24u8 4 36u® + 8u* + 24u3 + 4u? + du +2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3,C5 I SR |
cy
C2,Ce, C8 u® 150 o 8+ 1
€10
C4,C11 W5t 12041
¢ (u?* 4+ 3u® 4 - + 18u + 7)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C5 y48+15y47++8y3+1
cy
€2, Ce, C8 y48 +35y47 +--~+88y2 +1
€10
C4,C11 y4875y47+~~—24y+1
7 (y** — 9y*3 + -+ — 212y + 49)?




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + y=1CS)

Cusp shape

u = —0.447030 4 0.8940681

0.85406 + 3.280621

1.88284 — 1.763531

u = —0.447030 — 0.8940681

0.85406 — 3.280621

1.88284 + 1.763531

u = —0.037970 4 1.0183201

—3.47428 + 2.084251

—3.81787 — 2.590781

u = —0.037970 — 1.0183201

—3.47428 — 2.084251

—3.81787 + 2.590781

u = 0.103335 + 0.9649301

—2.07060 + 1.712751

0.95839 — 4.388271

u = 0.103335 — 0.9649301

—2.07060 — 1.712751

0.95839 + 4.388271

0.709249 + 0.7539941

1.54659 + 2.078021

3.74247 — 4.143561

= 0.709249 — 0.7539941

1.54659 — 2.078021

3.74247 + 4.143561

0.161802 + 1.0280801

0.15229 4 3.457711

1.61918 — 3.335371

0.161802 — 1.0280801

0.15229 — 3.457711

1.61918 + 3.335371

0.786969 + 0.6919471

0.15229 — 3.457711

1.61918 + 3.335371

0.786969 — 0.6919471

0.15229 + 3.457711

1.61918 — 3.335371

—0.156596 + 1.0437001

—0.78809 — 9.123381

—0.18249 + 8.135271

= —0.156596 — 1.0437001

—0.78809 + 9.123381

—0.18249 — 8.135271

—0.779513 + 0.7286501

3.78730 4 1.058841

9.33375 — 1.036971

—0.779513 — 0.7286501

3.78730 — 1.058841

9.33375 + 1.036971

0.820160 + 0.6989261

5.77023 — 8.942271

7.03302 + 5.489371

0.820160 — 0.6989261

5.77023 + 8.942271

7.03302 — 5.489371

—0.559504 4 0.9287207

—3.47428 — 2.084251

—3.81787 + 2.590781

—0.559504 — 0.9287201

—3.47428 + 2.084251

—3.81787 — 2.590781

= 0.357761 + 0.8283611

1.54659 + 2.078021

3.74247 — 4.143561

= 0.357761 — 0.8283611

1.54659 — 2.078021

3.74247 + 4.143561

= —0.798379 + 0.7822891

7.98533

10.04300 + 0.1

= —0.798379 — 0.7822891

7.98533

10.04300 + 0.1

0.795531 + 0.7947991

7.45278 + 5.815851

8.97012 — 5.489271

0.795531 — 0.7947991

7.45278 — 5.815851

8.97012 4 5.489271

0.644764 + 0.9248361

0.94545 + 3.013031

3.90717 — 2.479871

0.644764 — 0.9248361

0.94545 — 3.013031

3.90717 + 2.479871

0.684868 + 0.9709991

0.85406 + 3.280621

1.88284 — 1.763531
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0.684868 — 0.9709991

0.85406 — 3.280621

1.88284 + 1.763531




Solutions to I¥ vV—=1(vol + /=1CS) Cusp shape
= 0.750786 4 0.9452981 6.98909 8.15485 4+ 0.1
= 0.750786 — 0.9452981 6.98909 8.15485 4 0.1
= —0.748039 + 0.9554711 7.45278 — 5.815851 8.97012 4 5.489271
= —0.748039 — 0.9554711 7.45278 4 5.815851 8.97012 — 5.489271
= —0.718495 + 0.9834291 3.01107 — 6.727061 7.45449 + 6.341721
= —0.718495 — 0.98342971 3.01107 4 6.727061 7.45449 — 6.341721
= 0.712082 4 1.0031401 —0.78809 + 9.123381 0. —8.135271
= 0.712082 — 1.0031407 —0.78809 — 9.123381 0.4 8.135271
= —0.730704 4 1.0060401 5.77023 — 8.942271 7.03302 + 5.489371

—0.730704 — 1.0060401

5.77023 + 8.942271

7.03302 — 5.489371

—0.520871 + 0.5297001

0.94545 + 3.013031

3.90717 — 2.479871

—0.520871 — 0.5297001

0.94545 — 3.013031

3.90717 + 2.479871

—0.619099 + 0.1440521

3.01107 — 6.727061

7.45449 4 6.341721

—0.619099 — 0.1440521

3.01107 + 6.727061

7.45449 — 6.341721

0.605322 + 0.1147701

3.78730 + 1.058841

9.33375 — 1.036971

0.605322 — 0.1147701

3.78730 — 1.058841

9.33375 + 1.036971

—0.516429 4 0.2282111

—2.07060 — 1.712751

0.95839 + 4.388271

glR|g|f|f|g|g|g|g|g|g|g|g|g|r|g|g |

—0.516429 — 0.2282111

—2.07060 + 1.712751

0.95839 — 4.388271
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C3,Cs5 (ull +2u9++2u_ 1)(U48 —U47+ +2U+1)
C9
C2,Cg, Cg (ull _|_4u10 IS 2 — 1)(’11148 4 15U47 NI 8u3 4 1)
€10
a1y (u™ + 20 — 2u® + 100" + 12u° — 3u? 4 5u® — u® — 1)
(M 5ulT 120+ 1)
Ccr

(u™ — 7t 280 — 8)(uPt + 3u 4+ 18u + 7)?
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1,63, 5 (Y + 4y 0 2y — D) (Y + 15y 4+ 8P+ 1)
C9
©2:%, 8 (y'h + 8y 0 4 -+ 22y — 1)(y*® + 35y + - +88y% + 1)
€10
coen | 7 Ay =2y - (" sy 20y 4 1)
cr (y — 3y10 ...

+ 48y — 64)(y** — 9y** + - -+ — 212y + 49)?
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